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BIOLOGY (UK )-018 sl
Q.Paper: 11 (Objective Type) (o /kr) GASP L 0 gy
Time Allowed : 15 Minutes PAPER CCDE =7467 <2 15 CLJ)

Maximum Marks : 12 12 AF
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Note : Four possible answers A, B, C and D to each question are given. The choice which you

think is correct, fill that circle in front of that question with Marker or Pen ink in the answer-book.
Cutting or filling two or more circles will result in zero mark in that question.

Diazepam is a drug of : ! z"_.i»(w}gli 1-1
Analgesics Jgf&' (D) Antibiotics uf;f ',Cf:'! (C) Sedatives x4~ (B) Vaccines /.’g: (A)
The enzyme which used to dissolve blood clots is : _ : ‘¢Flﬁlﬂijé_}?fu:}%‘£u? 2
Urokinase 765.¢ (D) Tripsing/ %/ (C) Pepsin /¥ (B) Amylase 20! (A)
Making a normal pigmeniation is example of : Ce Jlf‘* 04 e MOW&L 3
Chromosomes }‘m’:/r (D) Traits J':-) (C)  Genotype 15 (B) Phenotype ] (A)
Encyclopaedia " Al-Tasrif" is written by : : “:...e,“‘}.JJ( ".;'-:'/471" Ldn (Il |4
A1~Haithamf:f’1 (D)  Alilbn-e-lsa d‘-—‘wd’ (C) Abu-al-Qasim# @4l (B) Al-Farabi QLA (A)

The length of spinal cord is : :E:.JUJ jff'f |5
HE70 cm (D) #5560 cm (C) G540 cm (B) 5520 em (A)
Female reproductive part of flower is : : ;LVMJG,Q}'&JLFU){ 6

Petals /¥ (D) Sepals 7%~ {C) Androecium ﬁ?}u‘f;l (B) Gynoecium (:%Jf (A)
Charles Darwin proposed the mechanism of organic evolutionin : : @_Qf:ﬁg)%@ﬂ&?té.. L-)u!j’u{*?{p 7
1800 (D) 1930 (C) 1882 (B) 1838 (A)
Non-renewable resources are : ugJ{lfu;,cf“JG'L' 8
Seil & (D) Water i, (C) Wind 1% (B)  Fossil fuels 29 (A)
The disease in which destruction the wall of alveotiis : ; ug&lgc,}q;lg;Jéugélu:ufd;kga, 9
Bronchitis u"”,E-’:/. (D) Emphysema L»;’J{l (C)  Pneumonials’ (B) Asthma s (A)
Example of vegetative propagation by leaves is : : QJL“/JMJF; ;ff'f;ej_ni?r 10
Bryophylium K‘{Gfb: (D) Garlic g7 (C) Potato 47 (B) Mint =54 (A)
Number of bones in appendicular skeleton is : q.ﬂﬁd/uzéuioi’-_d,&m /,gj.:;i 11
146 (D) 136 (C) 116 (B) 126 (A)
The smailest bone in human body is : : ﬁ:_dé(j}{c-_._ﬁrd/‘/}dul 12
Vertebera 1‘,,1__\,33_;_; (D) Malieus‘f{&/ (C) Incus u’(f (B) Stapes u’f‘/ (A)
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BIOLOGY (s 1018 ' st
Paper Il (Essay Type) l[fs.fil_-;J l (5 da i) I - 2
Time Allowed . 1.45 hours 21 145 ° =5
Maximum Marks ;. 48 ( PART -1 ,,__|_-I "_ ) 48 .“:
10 2. Write short answors to any FIVE (5) questions : & oy & £ =iy (5) i; e df
(I} Explain stomata sl ()
(M) Whal is alveolus? “";E'_'::,."E.é' {)
fiil} Explain tharmareguiation 2 o S (W)
(W] Dafine osmasis. .5_3_,4' e (i)
(v} Explain renal patvis I P T
(vil Emplain reflex ar. £ ™ o
(wii] ‘What i5 myopia? T it {vil)
{vidl) Explain oval window S s Usiade i ([vid)
10 3. Write short answers to any FIVE (5) questions : = .ﬂ- =P j'# L =iy i(5) ﬁl'. &= J.p" -
{i) Differorfiate between compadl and spongy tone E I Laidera L )
[ii] What i meand by antugonism? e dole ;.;J;-‘__11 ]
(i) \Write iwe advantages of vegetative propagation. g __,;.5..,1.., .:,,;_’.-r..... (18}
(W] Verre the functions of hlum and micropyle in seed TN -.,_ L2 (V)
(v} Differeniiate betwoen epigeal and hypogeal permnation e,*i.._;,ﬁ_.r:,"h W ,a,_,ﬂ? iv)
ivi} Define traits also give an exampla. S AN )
(vil} Differentiate batween hemozygows and SR iy Sy 0 e (V)
Nelerazypous genctype
{vi) What are breads and culf Biology-10-LHR G1-18 (P- tg L sl (o)
10 4. Write short answers to arl 3) hmp & L 2w (5) ﬁ.l...—,.J;l" ¥
{1} Deine apegrigmity Type: Bitmap Image EAE W
(i) Wi is @ food weh Size: 992 KB Tefecsid (1)
(i}, Define alconolc fermentad Dimension: 2310 x 3480 Bl Sefe. 3Ll ()
v} What is recombinant DNA piyale 4=-='fI:'-=-|'-'"|"-ll"--l-E'nf e fiv)
(w) What = beta endrophn and WRETETETEET =" _ =¥ l=af T okt (v)
(wi) What are phamaceutcal dnigs? el Bt (vi)
[wil] WWhat s beron, what is its effect on GNS? T bt FLACHSET _,-:’r,:_r fwr)
iwiii} Forwhal pupose vaccines are used? r,;-...-,,[;,}ii.--'u{____.-l-',H % [
CPART 11 2 01 RS
Mote - Attermpt any TWO questions _-2."..!,.1#;-.-_1# it b
5 5. (8] Describe in detil psmobe adjustmends in pants. P e ,_,.l;"‘"_,.,"‘u;l.-._f,r-,_.,__u; ) .5
4 b} Wree 8 note on nere cell of newan .;‘_'.E_ffa_'-c_{r.:,_-, L L i (o)

5 B (a) Whatis skelston? Explen the componends _i.;..*l.‘-r,,!-';,.'ﬁ.gil.‘jej__a.{_...ﬁ,_-,-;.?l e A AT 6
of human skeleton

4 (b} What & seed genmination? Explain  _25 =L [0 e e fanmd Lon T vl A 0E (L)
condifizng for seed geminatan

5 7. (a) Descrbe n detail the biolic components of scosysiem ;,‘é'.,lk-lj""’,"...i'l_.-_- A M EAL A EI(N) 7
4 (] What are she objectives of genelic angineesing? “.,;.u-'udg:_ -.-T,-f:i e f._.-'l
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Maximum Marks @ 12 12 /J
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Note : Four possible answers A, B, C and D to each question are given. The choice which you
think is corract, fill that circle in front of that question with Marker or Pen ink in the answer-book.
Cutting or filiing two or more circles will result in zero mark in that question.

The complete map of human genome was published in : !ﬁéﬁ."iﬁ Kri:‘.‘-’ J;LU LI -1
2005 (D) 2002 (C) 2000 (B) 1902 (A)
Symbiosis in which both partners get benefit is example of : t :E.Jf*ujz. tﬁfafﬁa_/;u:}nw J}J';fdf 2
Competition 4G+ (D) Predation /&% (C)  Mutualism %%’ (B)  Parasitism (/ief Lz (A)
Example of rhizome stem is : : 3 ‘adl‘;"d/&p}éb 3
Garlic o7 (D) Onion Jk (C) Ginger 03! (B) Potato #T (A)
E. coli bacterium was made in : : y"gmﬁ,_%éufdf 4
- 1970 (D) ~ 1977 (C) J- 1975 (B) - 1980 (A)

Which structure plays an important rote for pushing the air out of lungs : ‘r’d/.f'{u:‘}' bﬁ'/ql..ina;..u:ygtﬂ”;& l/u/f 5
Bronchiole dzcs/ (D)  Diaphragm (.f/'yi (C) Bronchus /+4 (B)  Nasal cavity Cf,r’../d/‘z' (A)

Theory of natural selection was presented by : : g@f’}f /1,; Kitg&ua 6
Malthas é.uji (D) Darwind_/s/f3 (C) Lamarck & AU (B) Aristotle {1 (A)
The maintenance of temperature in internal human body is called : te b’U-,f LAQ(‘; s'fw;,?,udu,c IL()‘ &Ul 7

Osmoregulationﬂ:@f’ I (B) Thermoregulation U%f,y/? (A)
Guttation j‘;f (D) - Respiration o (C)
Part of embryo makes root : ; {.{3;'3?:-.4?;_)’ Iy 4|8
Plumule Jx# (D) Radicle f.4/ (C)  Epicotyl JB(§/ (B)  Cotyledon /0¥ (A)
Length of spinal cord is : : 9.&1.«’1}/ 3)&’&1,» 9
#3510 cm (D) HE20em(©C)  KFF30cm (B) H3E40 em (A)

It is the unit of nervous system : : - .f_.(jff(!(b"/w/' 10
Receptor %= (D) Neuron e (C) Nerve 1/ (B)  Ganglions :F:!u&( (A)
Diazepam is : ‘ g..(&d}gii 11

Vaccines /..’g: (D)  Narcotics o (C)  Hallucinogens 24597 (B) Sedative %4~ (A)
Human skeleton contains number of bones : ; .?.:'ﬁd/u;’éjvh.l,g.(u(}ul 12
106 (D) 206 (C) 306 (B) 406 (A)

215-018-Il-(Objective Type)-12750 (7466) CHR < lo= 3~ 18
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Paper 1l (Essay Type) (.,,:fyu) G4l IT ¢ oy
Time Allowed : 1.45 hours 145 0 &y
Maximum Marks : 48 48 /’f

( PART-1 Ji -~ )
10 2. Write short answers to any FIVE (5) questions : 1 & eR /" L =iy (5) &L v Gf -2
(i) Differentiate between glottis and epiglottis. é ubu/ut‘ uj uﬁi Lr:UJ ¥ (i)

(i) How does the gaseous exchange occur in leaves and fe t‘nd/.blf (L_}rf SUrL /oﬂ’»luf (i)
young stems?

(iii) Define hydrophytes and give an example. szt oy Sk, (i)

(iv) Write down the method of lithotripsy. L@y A S (iv)

(v) What is meant by succulent organs? Give an example. & seipe /C Tedl (V)

{vi) Write down the function of occipital fobe. _.Z:;;JJ ﬂ.,)ﬁo’( T (vi)

(vii) Differentiate between sympathetic system and -5 (;)QJ)J("’ Mﬁﬂlry g (vii)

narasympathetic system.
(viil) What is meant by brain stem? fe s /U/c_("’ o 4 (viii)
10 3. Write short answers to any FIVE (5) questions : /~&¥ailz & £ ouiv (5) § = Jf 3

(i) Differentiate between flexion and extension. 4..&/&@1 J:*‘ Inle

(i} What is meant by ostecporosis? ?q_;ygf;.ﬂ;;:},l (i'i)

(iii} How binary fission take place in invertebrates . -i’:f‘dt‘r ‘ %Jﬂz__j':u’;djfguﬁu":ﬁud! (iii)

give an example?

(iv) Define endospores, give an example. o ,":d’:dlfmfaf_-’-,‘ uJ_J/"'JJ»:;‘;i«;F (iv)

(v) Write the name of two important parts of angiospermic seed. & fté Bl 193G o pan sl (V)

(vi) Differentiate between breeds and cultivars. ?g.&)y/ui’bbﬁ:l}é‘c (vi)

(vii) Define the Mendel's law of independent assortment. oy /“"J_.w‘irh.ibdﬁ:u Tl Jar (vii)
(viii) What is meant by natural selection, also give an examp!e? -é:o"‘ "o s e :L:du.’ (viii)

10 4. Write short answers to any FIVE (5) questions : : & =iz &7 L = (5) ét e df 4
(i} What is giobal warming? 1;‘_,{5(_5,4,‘),? )
(i) Define aicoholic fermentation. ..g._.g} Ju’:"”/.@“? (i)
(iii) Give uses of glycerol. _-’;ffug._-, Ulﬁ"ll.d;} (i)
(iv) Give two objectives of genetic engineering. _é ugwﬁ'mé of /’f.."} B2 (iv)
(v) How gene of interest is isolated? “/_t‘blfd’ aﬁ:{/“'ﬁd’z {v)
(vi) Explain drugs from animals. _..-i’: Ju:d/..,t»iufd' b sl (Vi)
(vii) Differentiate between antibiotics and disinfectants. - 2= W A paitsCail o S g FEGH (vil)
(viii) What are narcotics? ( PART-TI ¢ ) \YOr l{u’?’t (wu.)
Note : Attempt any TWO questions. ' B ST A 1PN F Y
5 5. (a) Describe the osmoregulatory role of kidney. _éugf dﬂ:fzﬁfb’c.:f M -5
4 (b) Explain the structure of neuron. _Z-: 5 I TP ¢ )
5 6. (a) What is bone? Describe its structure. -é@,ﬁ,‘yud’wwga’éu}z 0) -6
4 (b} Describe the advantages and disadvantages of -2‘_’:': e bt S6L gy ,gif;f":u." vy (&)

vegetative propagation of plants.
5 7. (a) Whatis acid rain? Describe its bad effects. et e £ S UTNSE O) 27

(b) Discuss role of biotechnology in the field of food ..iJ/;Lv)/L Jbﬁrtufd'.‘ﬁ...ﬂzwl_ﬁ:? ()
30d sgriculiure. 215-018-Il(Essay Type)- 51000 -to-2-1§
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